

Article history : Received 28 January 2011. Accepted 2 February 2011.

the convergence results of the process (1.1) have been widely established in spaces having the normalized duality mappings. By the way, Browder [5] initiated the study of certain classes of nonlinear operators by means of the duality mapping associated to a gauge function which includes the generalized and the normalized duality mappings as special cases.

Motivated by Browder [5] and Reich [2], we continue the work to study the convergence of Mann-type iteration in a much more general setting, a uniformly convex Banach space having the duality mapping associated to a gauge function.

Let E be a Banach space which admits the duality mapping associated to a gauge function and K a nonempty, closed and convex subset of E . Let $\{T_n\}_{n=1}^\infty$ be a sequence of nonexpansive self-mappings of K . We consider the following Mann-type iteration: $x_1 \in K$ and

$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T_n x_n, \quad n \geq 1, \quad (1.2)$$

where $\{\alpha_n\}$ is a real sequence in $(0, 1)$.

We recall that a Banach space E is said to be *strictly convex* if $\frac{\|x+y\|}{2} < 1$ for all $x, y \in E$ with $\|x\| = \|y\| = 1$ and $x \neq y$. E is called *uniformly convex* if for each $\epsilon > 0$ there is a $\delta > 0$ such that for $x, y \in E$ with $\|x\|, \|y\| \leq 1$ and $\|x - y\| \geq \epsilon$, $\|x + y\| \leq 2(1 - \delta)$ holds. The modulus of convexity of E is defined by

$$\delta_E(\epsilon) = \inf \left\{ 1 - \left\| \frac{1}{2}(x + y) \right\| : \|x\|, \|y\| \leq 1, \|x - y\| \geq \epsilon \right\},$$

for all $\epsilon \in [0, 2]$. E is uniformly convex if $\delta_E(0) = 0$, and $\delta_E(\epsilon) > 0$ for all $0 < \epsilon \leq 2$. It is known that every uniformly convex Banach space is strictly convex and reflexive. Let $S(E) = \{x \in E : \|x\| = 1\}$. E is said to be *smooth* if $\lim_{t \rightarrow 0} \frac{\|x+ty\| - \|x\|}{t}$ exists for each $x, y \in S(E)$. The norm of E is said to be *Fréchet differentiable* if for each $x \in S(E)$, the limit is attained uniformly for $y \in S(E)$. See [6, 7, 8].

We need the following definitions and results which can be found in [5, 6, 7].

Definition 1.1. A continuous strictly increasing function $\varphi : [0, \infty) \rightarrow [0, \infty)$ is said to be *gauge function* if $\varphi(0) = 0$ and $\lim_{t \rightarrow \infty} \varphi(t) = \infty$.

Definition 1.2. Let E be a normed space and φ a gauge function. Then the mapping $J_\varphi : E \rightarrow 2^{E^*}$ defined by

$$J_\varphi(x) = \{f^* \in E^* : \langle x, f^* \rangle = \|x\| \varphi(\|x\|), \|f^*\| = \varphi(\|x\|)\}, \quad x \in E$$

is called the *duality mapping with gauge function* φ .

In the case $\varphi(t) = t^{q-1}$, $q > 1$, the duality mapping $J_\varphi = J_q$ is called the *generalized duality mapping*.

Remark 1.3. For the gauge function φ , the function $\Phi : [0, \infty) \rightarrow [0, \infty)$ defined by $\Phi(t) = \int_0^t \varphi(s) ds$ is a continuous convex and strictly increasing function on $[0, \infty)$. Therefore, Φ has a continuous inverse function Φ^{-1} .

Remark 1.4. For each x in a Banach space E , $J_\varphi(x) = \partial \Phi(\|x\|)$, where ∂ denotes the sub-differential.

Remark 1.5. For each $x, y \in E$, the following inequality holds:

$$\Phi(\|x + y\|) \leq \Phi(\|x\|) + \langle y, j_\varphi(x + y) \rangle, \quad j_\varphi(x + y) \in J_\varphi(x + y). \quad (1.3)$$

Remark 1.6. A Banach space E is smooth if and only if each duality mapping J_φ with gauge function φ is single-valued; in this case

$$\left. \frac{d}{dt} \Phi(\|x + ty\|) \right|_{t=0} = \lim_{t \rightarrow 0} \frac{\Phi(\|x + ty\|) - \Phi(\|x\|)}{t} = \langle y, J_\varphi(x) \rangle, \quad \forall x, y \in E.$$

Lemma 1.7. [9] Assume that a Banach space E has a weakly continuous duality mapping with gauge φ . Then for any sequence $\{x_n\}$ that converges weakly to x , we have for any $y \in E$, $\limsup_{n \rightarrow \infty} \Phi(\|x_n - y\|) = \limsup_{n \rightarrow \infty} \Phi(\|x_n - x\|) + \Phi(\|x - y\|)$.

Let K be a subset of a real Banach space E and let $\{T_n\}$ be a family of mappings of K such that $\bigcap_{n=1}^{\infty} F(T_n) \neq \emptyset$. Then $\{T_n\}$ is said to satisfy the AKTT-condition [10] if for each bounded subset B of K , $\sum_{n=1}^{\infty} \sup\{\|T_{n+1}z - T_n z\| : z \in B\} < \infty$.

Lemma 1.8. [10] Let K be a nonempty and closed subset of a Banach space E and let $\{T_n\}$ be a family of mappings of K into itself which satisfies the AKTT-condition, then the mapping $T : K \rightarrow K$ defined by $Tx = \lim_{n \rightarrow \infty} T_n x$ for all $x \in K$ satisfies

$$\limsup_{n \rightarrow \infty} \{\|Tz - T_n z\| : z \in B\} = 0$$

for each bounded subset B of K .

In the sequel, we will write $(\{T_n\}, T)$ satisfies the AKTT-condition if $\{T_n\}$ satisfies the AKTT-condition and T is defined by Lemma 1.8 with $F(T) = \bigcap_{n=1}^{\infty} F(T_n)$.

2. MAIN RESULTS

Proposition 2.1. Let E be a reflexive Banach space having a weakly continuous duality mapping j_φ . Let $\{x_n\}$ be a sequence in E and $p, q \in \omega_w(\{x_n\})$. If $\lim_{n \rightarrow \infty} \|x_n - p\|$ and $\lim_{n \rightarrow \infty} \|x_n - q\|$ exist. Then $p = q$.

Proof. Suppose $p, q \in \omega_w(\{x_n\})$ and $p \neq q$. Then there exist subsequences $\{x_{n_k}\}$ and $\{x_{n_j}\}$ of $\{x_n\}$ such that $x_{n_k} \rightharpoonup p$ and $x_{n_j} \rightharpoonup q$. By Lemma 1.7 and the continuity of Φ , we have

$$\begin{aligned} \lim_{n \rightarrow \infty} \Phi(\|x_n - p\|) &= \lim_{k \rightarrow \infty} \Phi(\|x_{n_k} - p\|) < \lim_{k \rightarrow \infty} \Phi(\|x_{n_k} - q\|) \\ &= \lim_{j \rightarrow \infty} \Phi(\|x_{n_j} - q\|) < \lim_{j \rightarrow \infty} \Phi(\|x_{n_j} - p\|) = \lim_{n \rightarrow \infty} \Phi(\|x_n - p\|), \end{aligned}$$

which is a contradiction. Thus $p = q$. \square

Proposition 2.2. Let E be a Banach space having a Fréchet differentiable norm and a duality mapping j_φ . Then there exists an increasing function $b : [0, \infty) \rightarrow [0, \infty)$ with $\lim_{t \rightarrow 0} \frac{b(t)}{t} = 0$ and

$$\Phi(\|x\|) + \langle h, j_\varphi(x) \rangle \leq \Phi(\|x + h\|) \leq \Phi(\|x\|) + \langle h, j_\varphi(x) \rangle + b(\|h\|) \quad \forall x, h \in E. \quad (2.1)$$

Proof. Let $x \in E$ and define $b : [0, \infty) \rightarrow [0, \infty)$ by $b(0) = 0$ and

$$b(t) = \sup_{y \in S(E)} |\Phi(\|x + ty\|) - \Phi(\|x\|) - t\langle y, j_\varphi(x) \rangle|, \quad t > 0.$$

Then b is an increasing function. Since E has a Fréchet differentiable norm,

$$\lim_{t \rightarrow 0} \frac{b(t)}{t} = \lim_{t \rightarrow 0} \sup_{y \in S(E)} \left| \frac{\Phi(\|x + ty\|) - \Phi(\|x\|)}{t} - \langle y, j_\varphi(x) \rangle \right| = 0$$

and

$$|\Phi(\|x + ty\|) - \Phi(\|x\|) - t\langle y, j_\varphi(x) \rangle| \leq b(t) \quad \forall y \in S(E)$$

which implies

$$\Phi(\|x + ty\|) \leq \Phi(\|x\|) + t\langle y, j_\varphi(x) \rangle + b(t) \quad \forall y \in S(E). \quad (2.2)$$

Suppose $h \neq 0$. Put $y = \frac{h}{\|h\|}$ and $t = \|h\|$. By (2.2), we have

$$\Phi(\|x + h\|) \leq \Phi(\|x\|) + \langle h, j_\varphi(x) \rangle + b(\|h\|). \quad (2.3)$$

On the other hand, by (1.3), we have

$$\Phi(\|x\|) = \Phi(\|x + h - h\|) \leq \Phi(\|x + h\|) - \langle h, j_\varphi(x) \rangle \quad (2.4)$$

for each $h \in E$. Combining (2.3) and (2.4), we get the desired result. \square

Following [2, 11], we can prove Proposition 2.3.

Proposition 2.3. *Let E be a uniformly convex Banach space having a Fréchet differentiable norm and a duality mapping j_φ and K a nonempty, closed and convex subset of E . Let $\{S_n\}_{n=1}^\infty$ be a sequence of L_n -Lipschitzian self-mappings of K with $L_n \geq 1$, $n \geq 1$ and $\sum_{n=1}^\infty (L_n - 1) < \infty$. Assume that $F = \bigcap_{n=1}^\infty F(S_n) \neq \emptyset$. If $x_1 \in E$ and $x_{n+1} = S_n x_n$, $n \geq 1$, then $\forall f_1, f_2 \in F$, $\lim_{n \rightarrow \infty} \langle x_n, j_\varphi(f_1 - f_2) \rangle$ exists.*

Proof. For each $f \in F$, we see that

$$\|x_{n+1} - f\| = \|S_n x_n - f\| \leq (1 + (L_n - 1))\|x_n - f\|.$$

Hence $\lim_{n \rightarrow \infty} \|x_n - f\|$ exists for all $f \in F$. Now, taking $x = f_1 - f_2$, $h = t(x_n - f_1)$ in (2.1) and setting $a_n(t) = \|tx_n + (1 - t)f_1 - f_2\|$, we obtain

$$\begin{aligned} \Phi(\|f_1 - f_2\|) + t\langle x_n - f_1, j_\varphi(f_1 - f_2) \rangle &\leq \Phi(a_n(t)) \\ &\leq \Phi(\|f_1 - f_2\|) + t\langle x_n - f_1, j_\varphi(f_1 - f_2) \rangle + b(t\|x_n - f_1\|) \\ &\leq \Phi(\|f_1 - f_2\|) + t\langle x_n - f_1, j_\varphi(f_1 - f_2) \rangle + b(tM) \end{aligned}$$

for some $M > 0$. Since E is uniformly convex, by Lemma 2.2 of [11], we know that $\lim_{n \rightarrow \infty} a_n(t)$ exists. Hence $\lim_{n \rightarrow \infty} \Phi(a_n(t))$ also exists since Φ is continuous. Thus

$$\limsup_{n \rightarrow \infty} \langle x_n - f_1, j_\varphi(f_1 - f_2) \rangle \leq \liminf_{n \rightarrow \infty} \langle x_n - f_1, j_\varphi(f_1 - f_2) \rangle + b(tM)/t.$$

Since $b(tM)/t \rightarrow 0$ as $t \rightarrow 0$, $\lim_{n \rightarrow \infty} \langle x_n - f_1, j_\varphi(f_1 - f_2) \rangle$ exists. \square

Theorem 2.4. *Let E be a Banach space having a duality mapping j_φ and K a nonempty, closed and convex subset of E . Let $\{T_n\}_{n=1}^\infty$ be a sequence of nonexpansive self-mappings of K such that $\bigcap_{n=1}^\infty F(T_n) \neq \emptyset$. Suppose that $(\{T_n\}, T)$ satisfies the AKTT-condition and let $\{x_n\}$ be defined by (1.2). Then,*

(i) *For each $f \in \bigcap_{n=1}^\infty F(T_n)$, $\lim_{n \rightarrow \infty} \|x_n - f\|$ exists.*

(ii) *If E is uniformly convex and $\sum_{n=1}^\infty \min\{\alpha_n, 1 - \alpha_n\} = \infty$, then*

$$\lim_{n \rightarrow \infty} \|x_n - T x_n\| = 0.$$

Proof. (i) For any $f \in \bigcap_{n=1}^\infty F(T_n)$, we have

$$\|x_{n+1} - f\| \leq \alpha_n \|x_n - f\| + (1 - \alpha_n) \|T_n x_n - f\| \leq \|x_n - f\|.$$

Hence $\{\|x_n - f\|\}$ is nonincreasing; consequently, $\lim_{n \rightarrow \infty} \|x_n - f\|$ exists.

(ii) Let $f \in \bigcap_{n=1}^\infty F(T_n)$ and assume $\|x_n - f\| > 0$. Since $\|T_n x_n - f\| \leq \|x_n - f\|$ and E is uniformly convex, it follows (see, for example, [12]) that

$$\|x_{n+1} - f\| \leq \|x_n - f\| \left\{ 1 - 2 \min\{\alpha_n, 1 - \alpha_n\} \delta_E \left(\frac{\|x_n - T_n x_n\|}{\|x_n - f\|} \right) \right\}.$$

Therefore

$$2 \min\{\alpha_n, 1 - \alpha_n\} \|x_n - f\| \delta_E \left(\frac{\|x_n - T_n x_n\|}{\|x_n - f\|} \right) \leq \|x_n - f\| - \|x_{n+1} - f\|.$$

Since $\lim_{n \rightarrow \infty} \|x_n - f\|$ exists and $\sum_{n=1}^\infty \min\{\alpha_n, 1 - \alpha_n\} = \infty$, by the continuity of δ_E , we conclude that $\liminf_{n \rightarrow \infty} \|x_n - T_n x_n\| = 0$. Observe that

$$\|x_{n+1} - T_{n+1} x_{n+1}\| \leq \alpha_n \|x_n - T_{n+1} x_{n+1}\| + (1 - \alpha_n) \|T_n x_n - T_{n+1} x_{n+1}\|$$

$$\begin{aligned}
&\leq \alpha_n \|x_n - x_{n+1}\| + \alpha_n \|x_{n+1} - T_{n+1}x_{n+1}\| \\
&\quad + (1 - \alpha_n) \|T_n x_n - T_{n+1}x_n\| + (1 - \alpha_n) \|T_{n+1}x_n - T_{n+1}x_{n+1}\| \\
&\leq \alpha_n (1 - \alpha_n) \|x_n - T_n x_n\| + \alpha_n \|x_{n+1} - T_{n+1}x_{n+1}\| \\
&\quad + (1 - \alpha_n) \sup_{z \in \{x_n\}} \|T_n z - T_{n+1}z\| + (1 - \alpha_n)^2 \|x_n - T_n x_n\| \\
&= (1 - \alpha_n) \|x_n - T_n x_n\| + \alpha_n \|x_{n+1} - T_{n+1}x_{n+1}\| \\
&\quad + (1 - \alpha_n) \sup_{z \in \{x_n\}} \|T_n z - T_{n+1}z\|,
\end{aligned}$$

which implies

$$\|x_{n+1} - T_{n+1}x_{n+1}\| \leq \|x_n - T_n x_n\| + \sup_{z \in \{x_n\}} \|T_n z - T_{n+1}z\|.$$

Since $\{T_n\}$ satisfies the AKTT-condition, $\lim_{n \rightarrow \infty} \|x_n - T_n x_n\|$ exists; consequently, $\lim_{n \rightarrow \infty} \|x_n - T_n x_n\| = 0$. On the other hand, we see that

$$\|x_n - T x_n\| \leq \|x_n - T_n x_n\| + \|T_n x_n - T x_n\| \leq \|x_n - T_n x_n\| + \sup_{z \in \{x_n\}} \|T_n z - T z\|.$$

Since $(\{T_n\}, T)$ satisfies the AKTT-condition, we have $\lim_{n \rightarrow \infty} \|x_n - T x_n\| = 0$ by Lemma 1.8. This completes the proof. \square

Theorem 2.5. *Let E be a uniformly convex Banach space having a duality mapping j_φ and K a nonempty, closed and convex subset of E . Let $\{T_n\}_{n=1}^\infty$ be a sequence of nonexpansive self-mappings of K such that $\bigcap_{n=1}^\infty F(T_n) \neq \emptyset$. Suppose that $(\{T_n\}, T)$ satisfies the AKTT-condition and let $\{x_n\}$ be defined by (1.2) with $\sum_{n=1}^\infty \min\{\alpha_n, 1 - \alpha_n\} = \infty$. If one of the following statements holds:*

- (i) *E has a weakly continuous duality mapping j_φ ;*
- (ii) *E has a Fréchet differentiable norm.*

Then $\{x_n\}$ converges weakly to a common fixed point of $\{T_n\}_{n=1}^\infty$.

Proof. Set $S_n = \alpha_n I + (1 - \alpha_n)T_n$, $n \geq 1$. Then $x_{n+1} = S_n x_n$ and $F(T_n) = F(S_n)$ for all $n \geq 1$. By Theorem 2.4 (i) and (ii), we get that $\omega_w(\{x_n\}) \subset F(T)$ by the demiclosedness principle. Next, we show that $\omega_w(\{x_n\})$ is singleton. To this end, let $p, q \in \omega_w(\{x_n\})$. If E has a weakly continuous duality mapping j_φ , then $p = q$ by Proposition 2.1. Suppose that E has a Fréchet differentiable norm, and $\{x_{n_k}\}$ and $\{x_{m_k}\}$ are subsequences of $\{x_n\}$ such that $x_{n_k} \rightharpoonup p$ and $x_{m_k} \rightharpoonup q$. Then

$$\|p - q\| \varphi(\|p - q\|) = \langle p - q, j_\varphi(p - q) \rangle = \lim_{k \rightarrow \infty} \langle x_{n_k} - x_{m_k}, j_\varphi(p - q) \rangle.$$

By Proposition 2.3, we conclude that $\|p - q\| \varphi(\|p - q\|) = 0$ and $p = q$. Therefore $\{x_n\}$ converges weakly to a common fixed point of $\{T_n\}_{n=1}^\infty$. \square

Acknowledgement. The authors thank the Thailand Research Fund for financial supports. The first author is supported by the Royal Golden Jubilee Grant PHD/0261/2551 and by the Graduate School, Chiang Mai University, Thailand.

REFERENCES

1. W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953) 506-510.
2. S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math. Anal. Appl. 67 (1979) 274-276.
3. G. Marino, H.K. Xu, Weak and strong convergence theorems for strictly pseudo-contractions in Hilbert spaces, J. Math. Anal. Appl. 339 (2007) 336-349.

4. Y. Song, R. Chen, Weak and strong convergence of Mann's-type iterations for a countable family of nonexpansive mappings, *J. Korean Math. Soc.* 45 (2008) 1393-1404.
5. F.E. Browder, Convergence theorems for sequences of nonlinear operators in Banach spaces, *Mathematische Zeitschrift*, 100 (1967) 201-225.
6. R.P. Agarwal, D. O'Regan, D.R. Sahu, *Fixed Point Theory for Lipschitzian-type Mappings with Applications*, Springer, 2009.
7. C.E. Chidume, *Geometric Properties of Banach Spaces and Nonlinear Iterations*, in; Springer Lecture Notes Series, 2009.
8. W. Takahashi, *Nonlinear Function Analysis*, Yokohama Publishers, Yokohama (2000).
9. T.C. Lim, H.K. Xu, Fixed point theorems for asymptotically nonexpansive mappings, *Nonlinear Anal.* 22 (1994) 1345-1355.
10. K. Aoyama, Y. Kimura, W. Takahashi, M. Toyoda, Approximation of common fixed points of a countable family of nonexpansive mappings in a Banach space, *Nonlinear Anal.* 67 (2007) 2350-2360.
11. K.K. Tan, H.K. Xu, Fixed point iteration processes for asymptotically nonexpansive mappings, *Proc. Amer. Math. Soc.* 122 (1994) 733-739.
12. R.E. Bruck, A simple proof of the mean ergodic theorem for nonlinear contractions in Banach spaces, *Israel J. Math.* 32 (1979) 107-116.